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Question Paper Code : 13235

B.E./B.Tech.b DEGREE EXAMINATION, NOVEMBER/DECEMBER 2012.
| Fifth Semester
‘ Civil Engineering
y " CE 1304/CE 1305 — ENVIRONMENTAL ENGINEERING
| " (Regulation 2004/2007)
(Common to B.E. (Ifairt-Time) Fourth Semester, Regulation 2005)
Time : Three hours ’ Maximum : 100 marks
Answer ALL questions.
PART A — (10 x 2 = 20 marks)
1. Whatis nieant by the term “pdpulation”? B
2. Enumerate any four reason for measuring quantity of water.
3.  Differentiate between detention period and overflow rate.
-4, What is the purpose of coagulation? |

5.  Define self-cleaning velocity.

6. Short notes 6n :
(a) Manhole covers

®) | Automatic ﬂuShing tank.
7. What a?e the objects of plain sedimentation tank?
. 8. | How is‘sludg'e 'volur;le index 1s dei?e_rmined?
9. How are dﬁng beds constructed? -

10. What are the factors which affects sludge digestion tank?
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" PART B — (5 x 16 = 80 marks)

() Discuss the factors which affects the réte of demand. o )

(). Explain in. detail about the various methods of population
forecasting. A N ' ' 8

Or -

Define specific capacity of a well. Explain with neat sketch of tests of
yield of a well. ; - (16)

* .

Explain with neat sketch which shows the general layout of rapid sand
filter and explain its working principle. How is washing done of such a
filter? ‘ - . _ (16)

Or
Short notes on the following ':
Q) Break point chlorination
(1) Flocculator |
(i11) Véloc_ity of fiow _ , ‘
@1v) Wéshwater troughs. : : | (4'x 4=16) . |

(1) Explain the. sighiﬁcanée of minimum and maximum velocities of
flow in the design of sewers. : (8)

(i) State the hydraulic formulae which are commonly adopted in the
design of sewer. -~ : ®

Or

Why is siphon spillway most effective as storm regulator? Explain its

 working with help of a neat sketch. ‘ - (16)

Explain the basic »operétions involved in the activated slu:dge process
with the help of a neat sketch. - ' - ' (16)

Or

Distinguish between activated sludge process and trickling filter. | (16)
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‘15. (a) Give a neat sketch and explain the following .

(1) Lagoon

(i) Drying bed

(i) Vaccum filter

(iv) Sludge disposal tank. (4 x 4=16)
Or - |

f Sewagé disposal and also explain any two

Explain the necessasity o
' (16)

methods of disposal.
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